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QUESTION 1

Which two levels of the Cisco Engagement Readiness Assessment can be included or assigned to a business
architect? (Choose two.)

A. technology specific
B. business solutions
C. product roadmaps
D. technology architecture
E. business transformation

Correct Answer: BE

QUESTION 2

According to the Cisco Business Architecture methodology, to what do you map business capabilities?
A. solutions maturity

B. technical solutions

C. business solutions

D. financial outcomes

Correct Answer: C

QUESTION 3

Which tool do you determine priorities and sequencing for the business roadmap when you want to implement new
capabilities and solutions?

A. business strategy value map

B. customer readiness index matrix
C. ability to execute matrix

D. business solution impact index

Correct Answer: D

QUESTION 4

Which two real world examples for an external business influence are true? (Choose two.)
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A. A bank has decided to invest in a new business solution for retail banking.
B. A state health department has mandated the use of closed-loop medication administration to all state hospitals.
C. A manufacturer is streamlining current manual processes in the warehouse for automation purposes.

D. The CMO has indicated they should develop new business capabilities for their Business Delivery Services
department.

E. A bricks and mortar retailer is introducing their online retail capability to compete with online rivals.

Correct Answer: DE

QUESTION 5

Which two scenarios does business systems modeling address? (Choose two.)

A. consumption and speed of replenishment of new business systems

B. to model the various systems that are associated with an organization

C. exchange of information between different events IT systems that the organization relies on

D. consumption model that ensures that customers get what they want, at the value they want, and when they want it
E. helping organizations define what they do

Correct Answer: BD
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